cwmire o chibgue X TR milie doux cent trente-sepf e | s
':‘Eimmn;;ﬁﬂ‘ﬂ]ﬁhﬂdrmnﬂun-ihn'l 1 e
o Py dy S XERON - ANNABA : A

T PSR- S i — Annaba Le QRORI01S )
Paveble d .-l.'l.’-",':-lm
o 20

AASS

university Kasdi Mevbah of ouargla _Janvier 2024
Faculty of new technologies for information and communication A 2023/2024
Departiment of Blectronics and Telecommunieations Farid KADRI
Master 2 S3: Blectronics of Bmbedded systems 45 min
Information Coding and Security e
_-z=z==z===7°°°7 n
EXRM  reii :
WINOIM 2 e ..
un n
, WPrénom: ...
O7pts. f:x ercise 1: Consider the following codes: % CL.zz=======EFFFC
wzz=====77"7
(a) (b) © (@
mi|pi|! |00 mi| pi mi | pi| I |01V mi| pi
mi03|1|1 mi| 0.3 - mi|03|1 |1 mi | 0.3 Ty
mz(02|1]0 mz|o021 . mz(02(1]0 m| o021~ 3
m3/ 0201 m3 | 0.2 03 m3|02/0 |11 m3| 0.2
ma/ 0100 |11 me| 01| 0.5 ma4(01/0 |10 ms| 01| ,, 0.5
ms/01|0|0/|1(0 ms | 0.1 - ms{01/0 |0 |1 ms| 0.1 |_0'3
0.05 ) 0050 (0|01 mg | 0.05
me|0.05| 0 [0 |0 |1 ms -0.1F me o4
m7/005/ 00|00 m7 | 0.05 m7(005 0|0 (0|0 m7 | 0.05
{3 v' The maximum of ENtrOPY IS & ..o.oie ool
T3V The INVAlid COAC IS ..vvieieee oo
{& v The efficient Shannon Fano codeis : ............ ,and it’s variance is : ..........ccoocvovieiieei, ﬁ
{3 v' The efficient Huffinan codeis : ............, and it’s average length is : ........................... ,
{»v' The least efficient codeis: ............. , and it’S VATIANCE IS & ..oovveeeeeeeeee e, '
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f: xercise 2: Complete to create a valid code ?
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v Consider a Hamming code, and fill in the tables below?

Received code word Ci Corrected code word Ci

- 1/]0|1(1]|]0(1]|1
Information : mi Code word : Ci olololol1l1]0
11 1]JofJ1].]l1].]ofJo]o 1110111 ‘@
011 ]1Jo 111 .o 1(1/0/0]1]0]1 ﬁ
0o|1|0|1fJ0 /|1 |01 1 . -m 1/0/1(0]0(0]1
0O(1|1]0)J0 |1 1|0 . . 1 1({1|1(0|0(0]0
1/0[0|0 . 0 . 0|01 1
1(0(1|11]1 0|1 1 1
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O7pts. f:xerczqs‘e 1 : Consider the following codes: * o _zzz==z====3°%F ,
wzz=z====°77 S
(a) (b) © (d)
mi | pi Il v mi| pi mi | pi |1 || mi| Ppi
0.3
mi|o3| 1|1 mi | 0.3 Py mi 03|11 Ll . Fos
m2[02/1]0 mny | 02 L | mzj02)1)0 m2 .
ms3(02/0]1]1 | 02 ms0.2]0 |1 ms|02]
ms|01[0 |10 m4| 0.1 L) 0.5 ma01/0]|0]|1]1 ms4 | 0.1 e
ms | 0.1 ] ms | 0.1 |
ms|01/0 0|1 — |—o,3 ms/ 01|00 (|10 = 0.2
ms | 0. . . I
me|005/0 (0|01 0.1 me(005|/ 0|0 |01 mse i
m71005 0|0 olo m7 | 0.05 mz7/005{ 0| 0 0 0 my7 | 0.05
I3 v The maximum of ENtrOPY S ......oooiii oo
T3V The invalid COAE IS T...o.oiivi oo
{& v The efficient Shannon Fano codeis : ............ ,and it’s variance is : ..........ccoocvovieiieei, ﬁ
{3 v' The efficient Huffinan codeis : ............, and it’s average length is : ........................... ,
{»v' The least efficient codeis: ............. , and it’S VATIANCE IS & ..oovveeeeeeeeee e, '

O7pts. f: xercise 2: Complete to create a valid code ?
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v Consider a Hamming code, and fill in the tables below?

Received code word Ci Corrected code word Ci

- 1(1|1(0|1 (1|1
Information : mi Code word : Ci 1l1lolol1]ol1
ol1]/ol1Jo|1]of1].]1 1{of1]1]o1]1 ‘@
o1 [1[ofJol1[1]o].].]1 olololol1]1]0 ﬁ
1(1(1]0]1 . 1 . 0|00 .m 1/{0|1(0]|0(0]|1
0|1 |1]|1f)J0]|1 1 1 0 1({1|1(0|0(0]0
1/0[0|0 0 . 0|01 1
1(0(1|11]1 0|1 1 1
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